SOSHIMURA

YOSHIMURA JAPAN CO., LTD. PRODUCT INSTALLATION INSTRUCTION MANUAL

HONDA CRF250L STREET SPORTS FULL SYSTEM
RS-4J CARBON END

Be sure to read the instruction carefully before starting the work. It is necessary to follow the contents to install a Yoshimura exhaust.

1. Product Information :

Description Honda CRF250L Street Sports Full System Stainless Sleeve : 180-42B-5L50
RS-4J Carbon End Metal Magic Sleeve : 180-42B-5L20
Cyclone Type HP42BSRA4C1 Part Number I ium Sleeve - 180-42B-5L80
Main Material Stainless Steel Titanium Blue Sleeve : 180-42B-5L80B
Weight [STD ; 7.5kg] (SS)&(SM) : 4.0kg / (ST)&(STB) : 3.8kg
2. Applicable Model :
Model Honda CRF250L
Type of Engine MD38E
3. Contents :
No. Descriptions Part No. Q'ty | No. Descriptions Part No. Q'ty
Exhaust Pipe 111-42B-5L00 1 | 11 | Cap Bolt M8x60 800-208-5060 | 1
2 | Tailpipe 115-42B-5L00 1 |12 | Washer M8x20 812-108-2000 | 2
Silencer Assy, Stainless Sleeve 186-42B-5L50 13 | Grommet Spacer 850-108-1010 | 1
3 Silencer Assy, Metal Magic Sleeve 186-42B-5L20 1 14 | Grommet Rubber 875-511-1006 | 1
Silencer Assy, Titanium Sleeve 186-42B-5L80 15 | Spacer 9-19-12 860-309-1912 | 1
Silencer Assy, Titanium Blue Sleeve | 186-42B-5L.80B 16 | Flange Nut M8 823-008-1250 | 2
4 | Silencer Band 162-42R-1500 1 |17 | Turnsignal Bracket 523-42B-3010 | 2
5 | Silencer Band Rubber 896-016-0835 1 | 18 | Button Bolt M10x25 P1.5 803-410-6025 | 2
6 | Flange 117-036-1010 1 |19 | Conical Spring Washer M10 810-110-0000 | 2
7 | Silencer Bracket 161-42B-0200 | 1 |20 | Flange NutM10 P1.5 823-010-1500 | 2
8 | Button Bolt M6x20 803-206-4020 | 2 |21 | Spacer 11-19-10 860-311-1910 | 2
9 | Conical Spring Washer M6 811-106-0000 2 |22 | Exhaust Spring 118-001-0000 | 1
10 | Flange Nut M6 823-006-1000 | 2
[/

. )
Parts Diagram

S )

CRF250L SS FS RS-4J 1/6




